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Al Of & A& & Ml A
20199 S £ 2 5] LBSIN HeIZED
SN HelE R
F ZH: [:HSDLE XA
o9l BYOAEHE el (el @
SA - SA(SH) - HEAMY - BES Off &K I EH Hwsz
CHel 243t 7,029,828 5,749,828 1,290,000
2 3,517,000 3,517,000 0
x 300,000 0 300,000
2 3,222,828 2,232,828 990,000
HERS SN 210,000 0 210,000
TYoIAEOIE 2 210,000 210,000
DYOIAEOIE =S 210,000 0 210,000
401 Al HIL =2 CH] 210,000 0 210,000
01 Al&HI 210,000 0 210,000
OZBUANSEHOE AALHSY
200,000, 0002+ 141 200,000 0 200,000
OBBUANSHHOE X HB=Y
10,000, 0002 * 141 10,000 0 10,000
HAIY g 2 =T 5,525,300 5,375,300 150,000
= 3,517,000 3,517,000 0
2 2,008,300 1,858,300 150,000
SEN=IPE, 5,525,300 5,375,300 150,000
2 3,517,000 3,517,000 0
2 2,008,300 1,858,300 150,000
SESAXNSLSH(EEXT)(LLS) 2,259,000 2,109,000 150,000
2 1,238,000 1,238,000 0
2 1,021,000 871,000 150,000
402 RIRXH2 01 H 490,000 340,000 150,000
03 B2t AN HI 490,000 340,000 150,000
OYYZE XNBIHAY FIRLZ Y=
2 490,000,002 * 141 490,000 340,000 150,000
goeas e U 2 558,600 228,600 330,000
Bz oY 24t 558,600 228,600 330,000
FURNTE HHs 558,600 228,600 330,000
201 LBt | 476,700 146,700 330,000
01 At 22l 476,700 146,700 330,000
OYYR DIXYBA EE
300,000, 0002 * 141 300,000 0 300,000
OB FHs 22 ZF 23,000,000 14! 23,000 3,000 20,000
0T MSHA 28 2T 131,200,008 +14] 31,200 121,200 10,000
SX QI P& 600,000 0 600,000
= 300,000 0 300,000
2 300,000 0 300,000
SRR HEX 600,000 0 600,000
x 300,000 0 300,000
2 300,000 0 300,000
Sror AMYMALE HEH T4 600,000 0 600,000
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SA-E . O(3H) - MRAY - BaS 0l ko8 )| & o H D=2

S 300,000 0 300,000

= 300,000 0 300,000

401 AlEBIL 2 THY 600,000 0 600,000

ES 300,000 0 300,000

i 300,000 0 300,000

01 A&l 600,000 0 600,000

OYUATAMAMALE ZHAY AtRHHI

600,000, 000& 14! 600,000 0 600,000

ES 300,000 0 300,000

= 300,000 0 300,000
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